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Question I: : [3+2+3434+343+2=19 points)

Evaluate the following integrals:

1. Use the substitutionu = 1 + x2 to compute [ x5V1 + xZ dx. [3 points)
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astion Il: [3+3+3=9 points]

Find the number(s) of z that satisfies the conclusion of the Integral Mean Value Theorem for

he definite integral f(x) = w77 " the interval [0,3]. [3 points]
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Determine whether the improper integral
00
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onverges or diverges. If it converges find its value. (3 points]
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uestion Hli: [3+3=6 points]
' Sketch the region R bounded by the graphs of the functions

y =x?,
en find its area. N
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8. Find the

about the y — axis.

of the sohd obtained by revolvmg the
y=e* y=0,

Question IV: [3+3=6 points]

A. Find the arc length of the p

arametric curve

region bounded by
—0andx =1,
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D * D = B e .

graph of the curve 7 = 2 — 2 sin . Then find its area. ‘ [3 points]
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